Mrs. Gregory & Mrs. Postlethwuite's group —

5a. Circle the perimeter of the rectangle. | 5b. Circle the perimeter of the rectangle.
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6a. Match the rectangle to the correct 6b. Match the rectangle to the correct
perimeter. perimeter.
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7b. The perimeter of this rectangle is

7d. The perimeter of this rectangle is
42cm. Calculate the missing sides.

50mm. Calculate the missing sides.
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8b. Choose two measurements which will
make a rectangle with a perimeter of
é4cm.

not to scale
8a. Choose two measurements which will
make a rectangle with a perimeter of
44mm.
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